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9.1-9.6
Reteach Solving Quadratic
Equations
Learning Gogls

* find the graph of quadratic equations
Find the solutions to a quadratic equation by:
Graphing
Using the quadratic formula
*  Factoring
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What is a quadratic?

~ An equation of the form
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where a, b and ¢ are the leading coefficents
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How do we know
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«If you graph a quadratic function, the
solutions of the equation are x-values
where the graph crosses the x-axis (x-
intercepts).

*These are aiso called soiutions, zeres, and
ronrs

*A quadratic equation can have 2, 1, or 0
real number solutions.

*This can be determined by looking at the
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Exl  p=(x32) -1
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Solve ;2 -16=0

{7 =fwT
{4}
x4 Solve 3x*-75=0

e 435

Two solutions

5 s
{7 5T
Two solutions {:]:5}

Zero Product Property
If (1% factor){2™ factor} = 0, then
1. Itfactoris O
2. 2" factorisO
or
3. 1% and 2™ factors are both 0.

Steps to Solving

1. Make the equation equal to zero
* Get everything to one side
2. Factor the polynomial

3. Set each factor equal to zero and
solve

Ex 5 Solve
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Ex6Solve 2. _jo, e (1 #9357l | b
Hlox puE
X +10x=0 B 3¢ 1 2x-16=0 $s><b
I ’Z
x(x+10)=0 (3x+8)(x-2)=0
=0 x+10= 0
= x-2=0
y=-10
{—10, 0} - x=2
_8 }
-5-2
Solve, Soive.
52 52 a ——
= 1s+gl=-52 1|2 A B2 q(2x+1)" =9
175+ +52=0 *‘?( NN 2x+1=43
S +17s+52=0 - ‘ ) 2x+1= 2x+1=3
(s+13)(s+4)=0 .—(S’r‘h(ﬁ”%
=0 s+4=0 2x= 2x =2
§=-4 x=1
{~13,~4) {-2.1
Vocabulary Steps to Solving
discriminant : 52 - 4ac
determines the type. anfl number i\f io_its of‘ a quadratic equation :: 'S:etnetq":a:ft:)nxual tojzera
valuzof || sofvealsolutions | Typeof solutions 3. Plugin ail known values in the QF
dissrivminant |
— TR 4. Simplify (PEMDAS)
* B Zero . o | maginary & solve for the variable
e 5. Check your solution{s)
Positive
wo




Ex10 15x?+8x=4
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15x% +8x~4=0 .
=
2
_— - 2_4
xX= = (_4)
2
iV 4240 #V304 #1744
. -17.44
(031,088 —H1TM o5 T4 453
TPoxonale € onpraete
Reducing Radicals 2‘]_ 1= :}:3—
1443 1-43
1 ﬁ =y ﬁ Ny fa
£'E T
1=3443-0
2-243
-3
2-23
-2

Reducing Radicals
V60 =415 V50 -18 +42

52— 242
5¥2 =32 ++2

RWS 9.1-9.6

+ Write your answers in set
notation




Algebrals A
Solving & Graphing Quadratic Equations

Review WS Name
Date Period

Simplify each expression.
1. V12 2. a8 3. Vi
4. 2J60 5. 52+342 6. V12-27+43
7. /50+/32-+2 3 3

80 —_— 9. —

V2 1-+/5

Solve by factoring.
10. x*—49=0 11. 6x* -13x-5=0 12, 2*+8x'-x-8=0

Complete the jollowing chart.
13.

Discriminant Value Number of Roots
positive




Find the value of the discriminant and state the number and type of roots.
14, 4x*-20x-11=0 15. 7x’—3x=-6 16. 25x° +20x+4=0

Solve by using the quadratic formula.
17. 5x’=x-12 18. 18x* +23x-6=0 18. 2x*-6x+3=0

Graph the following quadratics.
20. y=(x-1)’-5
X y | (xy)

%]

axis of symmetry __

vertex

min /max (circle one)

Domain —

Range

21, y=-2x"+8x-3

1

X b4 (X,Y )

axis of symmetry _______

vertex

min / max (circle one) o)

Domain _—

Range _




11.1 Simplifying Rational
Expressions

Monomials and Binomials

Simplifying Rational

ﬁ‘ 11336 none

EX1 Simplify
2
271: 1. Factor
s 2. Reduce
< “*% 3. Eliminate
4. Determine
% restrictions
EX3 Simplify
26x° +91x
T 1. Factor
]3\'(2_\-? +7) 2. Reduce
2x° +7 3. Eliminate
13 ]
z 4. Determine

restrictions

Expressions 1. Factor
2. Reduce
coefficients
3. Eliminate
common factors
4. Determine
restrictions
EX2 Simplify
1847
4d +8
18d4° 1. Factor
4(d +2 2. Reduce
94> .
2(d+2) 3. Eliminate
9d? 4. Determine
ﬁl 2d+4 d#-2 restrictions
EX 4 Simplify
2n-3
= 1. Factor
n-9
-4 2. Reduce
3%-3) 3. Eliminate
1 ]
3 7*% 4. Determine
% restrictions




EXs5 Simplify
2x-8
% -2x-8
2{x=4)
(x-3)(x+2)

2 24
% x+2 X#=4

EX6 Simplify
2% +17x-9

x* 81
(2x-1){x+9)
(x=9){«+9)

gl #-9,9
x-9°7 "

EX7 Simplify
64 —x*
x*+x-72
(8—x)8+x
(v~ 8)x+9)
-l(8+x)
x+9

-8-x
% . x#-98

Simplifying Rational
Expressions 1. Multiply wme
Reciprocal

J—
%.’.. - g

Factor

Reduce
coefficients

Eliminate
common factors

Determine restictions

AN -

11.2 Multiplying and Dividing
Rational Expressions
EX1 Simplify
2 xF 1. Factor
* % 2. Reduce
. 3. Eliminate
2 x#0 4. Determine
restrictions




EX3 Simplify
X +4x-12 2x+8

x*+8x+16 x-2 1. Factor
(x+6)(x~7) 2(x+4) 2. Reduce
(x+4)  »=2 3. Eliminate
2(x+6) 4. Determine
x¥-4,2 restrictions
x+4 i
l. Multlpl\/ by the
EX5 Simplify  Reciprocal
3x+6 4x+8
18 3
3v46 3 2. Factor
18  4x+8 3. Reduce
3(x+2) 3 4. Eliminate
18 4(x+2) 5. Determine
9 1 restrictions
- =— x#-2
72 8 %

EX2 Simplify
2oz 3 1. Factor
4+5z z 2. Reduce
3(2-2) 3. Eliminate
TlAleN 4. Determine
N (4 L SZ) restrictions
z¢‘45,0 %
1. Multiply bye
EX4 Simplify  Reciprocal
8.2
3x % 2. Factor
8. ¥ 3. Reduce
-y 4. Eliminate
4 5. Determine
"3— x#0 % restrictions
. . 1. !‘AUltipIy by the
EX6 Simplify  Reciprocal
x* -1 Lox-1
4x-6  2x+6
xxz _ﬁ zx_f()‘ 2. Factor
X516 a1 3. Reduce
(x~1}(x+1) 2(x+3) 4. Eliminate
(»+3)(x-2) -1 5. Determine
restrictions
z_(fil), x#-3,1.2 i
x—2




Algebra 1B
RWS 11.1-11.2

Simplify each expression. State any restrictions.

11.

6_2.46n2
24 31
10n 137
9 16
16n 8
17 6
3.3
286 b+1
84 48x
3 92
3.3
28h b+1

10.

Name

Date

Period

x+6
x* +5x—6

72n 85
25 274

v —-7v-30
Vv —5v—24

7n* (n+4) n-3

(n-3)(n+4) (n+8)(n+6)

27
27x+18

9(r+4) or
r+4 9(r-5)




x-11x+18
¥ +2x-8

10x* —28x+16 _25x* —25x+4

15, =
2x—4 5x* —~41x+8
dn-4
17.
6n-20
19, X —10x+25 x-10
" 10x-100 45-9x
3x2-—25x—18_._ 5x—3
27x+18  5x*—-33x+18
3r* —-397+90
23-——

2 =3r—-70

b* +35-28
b -49

i 9r° -54r" 9r*+9r
" 9% +45r 97° 5472

6p+27 _16p+72

18. —= :
18p°+36p 2p+4

9x* +81x
T X +8x*—9x

m+1 8m—80

22. r—
15-3m m" -9m-10

16x—-56 8x-28
24. e
8 4




